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MP BOARD CLASS 11 MATHS SAMPLE PAPER-SET 2

are? 93449+
Model Question Paper

Jed T
HIGHER MATHEMATICS
(Hindi and English Versions)
Time— 3 ®¢ Maximum Marks—100
Frder—
(1) ¥ U9 8 AT AFaE g |
(2) "l R MR 3fd SHB W@ TN Y E
(B) W F. 1 W 5 qTh TS T T
(4) v 6 U 21 db Ud 9T H ofaRe fdecu fev 7w &
Instructions
(1) All questions are compulsory to solve.
(2) Marks have been indicated against each question
(3) From Question No. 1 to five are objective type questions
(4) Internal options are given in question No. 6 to 21

Gue—3 (Section-A) a8 W (Objective Type Questions)
U1 AP axgfiss ue A fay v fAdem # 9 wdl SR gfg-

1 .
(i) 12 & AMM¥TH M -
1 1 b 1 N 1
@ x x+1 ®) x+2 x4+l
101 1 1 1
©) 5[;_x+2] ) x+2 x+l1
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() tan™ 5 + tan™ % B AE B
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(iv) S99 IHdd &I FHIBRY Gl 'l I B odis & o<l Wus dredl g,

é',
(a) x+y+z-=0 b)) x+y+z=1
(¢) x+y+=z=3 d x+y+z=-1
(v) afe &0 @ & fedmsgua 1, -3, 2 8 a1 SS9 ¥4 &1 fadmarsan
g
-3 2 1 2 3
® N

1
W e
s DO (B e
V14" 14714 @ iz iz Jia
Write the correct anwer from the given options provided in every objective
type question

(i) Partial fractions of ﬁ are—
1 1 1 1
@ T+ L e
il [ T B } 1 1
© S|x x+2 @ 22 =
1 1
(i) The value of tan™ 5 F tan~! 3 15—
1 T
(a) tan™! 6 (b) )
T b
(d) P (d) P
(1) Distance of the point (4, 3, 5) from Y axis is—
@) f34 (b) 5
() Ja1 @ 15
(iv) Equation of a plane which cuts the unit intercepts with the coordinate axis
is
(@ x+y+z=0 B x+y+z=1
(€) Xy +z2=3 @ x+y+z=-1
(iv) If direction ratios of a line are 1, —3, 2 then direction consines of line
are
1 -3 2 1 2 3
@ Ve ® 2V
-1 3 =2 -1 -2 -3
© AT @ VETE

©))
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yei—2. Fr=faaa s 3 9@/eac U Bichr Ul SavyRasr d
ferfEg |
1) fEei (1,2, 3) 3R (4,5, 6) & Fram gl var & degua -5,
3,-9 ¥
(i) M AR, MR WA HAdG™ BW & oW SHBT efewr e
UAEA P BT |
(i) sin (cos™! x) T FGHAT YUNdH IFT BT & |
(iv) sin x + cos x @ HeaqHd AH 2 B
V) i+ jj+kk @B AT 3 2
Write True / False in the following statement—
(i) The direction ratios of the line joining the points (1, 2, 3) and (4, 5, 6)
are =5, 3, -9
(1) If three non parallel non zero vectos are coplaner than the scalar triple
product of them will be zero.
(i) The differential Coefficient of sin (cos™! x) is zero.
(iv) The maximum value of sin x + cos x is 2

(v) The value of ;;+};+}";,ff is 3.
uzd-3. R el @ yff aifsg—
() sin x B ndl FTPAT oo, BT B |

(i) oI AT (&.Z}).(cx(?)

i ol HABRVT VNH Hed |

(iv) W 0TS <r<1 @A W F HAE—<de Bl F |

(V) @ SFRT WAy g R b wHaR B9 ¥ A sk w@fe.
Fill in the Blanks—
(i) The n™ derivative of sin X 5 .o

() By Lagrang's inequality (ri.f;).((le}) = e

Ox
(ii1) B B oo, Tegression Coefficient

(iv) If 0.75 < r <1 then ......... Co-relation in variables.

(v) Two non zero vectors ¢ and 5 are parallel if and only if ...
UTT-4. WUs 3 & [l WUs 4 ¥ U ¥Wel Iax gAdY Glsl §115¢ |
Match the Column by choosing from section (B) for section (A)

oqug 3 wug
(Section-A) (Section-B)
[6Y) _[tanx dx (a) sin™! = hap
a
@
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i 1

@ iz & )
1

(ii1) -[ a® — 12 dx (c)
-1

(iv) -[ 2 — 52 (d)
-1

R b e ©

®

(2

1 x
—sec! ||+ ¢
a

, X
cosec™ s < 4
a

Q

—log (cos x) + ¢
tan! x + ¢

x
cost |—| +¢

a
i X
—cott | —| +e
a a

y3q-5. fefaRaa usal & SOx e See/ardd 7 fafao—

() =geT YbeE A O A S b1 e Sid e @ g ARy |
(i) oiifbe fAEET 3 wafdd wHera Iaa a9 gg g3 fofag |
(iii) srifbe R & Hdafra Reods @ s fosE fram felay |
(iv) =IeA Xbhad A & ol W y &1 gq8e sid e Bl A &1 g

fafay |

(v) 0.3542E05 + 0.2681 E05 @I #AM foif¥gy |

Write the anwer of each question in one word/sentence of the following—
(1) Write the formula for square root of a number by Newton Reiphsons

method.
(i)
(111)
(1v)

method.

W)

Write the formula Simpson's rule related by numerical method.
Write one thrid rule of Simson's related to numerical method.
Write the formula for cube root of a number by Newtan's reiphsons

Write the value of 0.3542E05 + 0.2681 EOS5.
Wug—4q (Section-B)

Jrfirery Sadig we  (Very Short Answer Type Questions)

y¥a—6. 1 @wdl B ¥ P 7 @ BIfeg |

(4 3ip)

8
x> =5x46
Solve following expression into partial Fractions
.
¥ =5x+6
3rerdar  (or)
(3)
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2x+5 ) .
oGy @ viRw FE @
2x+5
m Solve in partial fractions
uei-7. Rig @ifsrg fe- (4 37eF)

(i) et (e ()
tan 1566 + tan 1 bE + tan Vo =0

(?_b b_C' c—i1
Prove that- tan™! (—J + tan™! (—)+ tan—l( ] =0
1+ bc

1+ ab 1+ca
are[Er  (orn)
3 12 56
Rig ®0 & sin! i cos™! =i sin! B
P- Tht —1§+ —IE_—IE
rove that—  sin™ = + cos™ = = s
8. Afe y=log x+ Vlog x + Vlog x ... oo B @I (4 3ip)
dy_ 1
e #ifre 5 dx  x(2y—1)
If y = Vlog x + Vlog x + Vlog x ........ eo then prove
dy 1
at dx  x(2y—1)
Al (or)
y= :—i @ x b AU AdheA BIAU |
Differentiate y = ,/:i with respect to x.
T x ,
w9, logtan [, +5) @1 x @ " Aabdd B | (4 ai)

T Xx
Differentiate log tan (Z+E] with respect to x
3edr (or)
tanx P HIH TG @& §RT 3@ ONd ST BN |

Find differential coefficient of ,ftanx by the first principle
UII—10. TUth HUT HEAER HUY dI 3NN BHI Srdl o | T BT aHieeor
S=ut-49¢ 2| 20 HeR P FIAE W € & fau Fu &1 IRAE
A7 AT B | (a 1)

©)
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A particle is thrown vertically upwards. The law of motion is S = ut — 4.9
t2. Find the imitial velocity of the particle to reach the height of 20 metres
31qdar (or)

Rig @MU BT - 32 +3x+7 &1 A4 fdg x=1 W 9 d If=s
AR 9 & M 2|
Prove that function x>

x =1

— 3x% + 3x + 7 neither have a maxima nor minima at

u—11. =1 qifes] @ 9B @RI © AHIS0T A9d BRI (4 3(®)

¥*x 2 % 6 8§ 10

y 6 § 4 3 2
Find the equation of regression of lines from the following data

x 2 4 6 8§ 10

¥y & 5 4 3 2

312dar (or)

= @S] @ MR TR x @ y TR FHABEEV IGT BT FATGRT ST DR |
e y=90 @ x BT HAE A B |

s & "
AR #A1EY 18 100
1 faeer 14 20

x 3R y H WE W& ned =08
From the followoing data. Find the line of regression of x on y and estimate
the value of x, if ¥ = 90.

Series X ¥
Arithmetic Mean 18 100
Standard Deviation 14 20

Coefficient of coreelation between x and y = 0.8

u—12. Fled Oada A &1 wawr ox e siesl 4 9g—weg e
ST DI | (a 3P)

% 3 4 6 8 9

v 90 100 130 160 170
Find the coefficient of correlation between x and v by using Karl Pearson's
method from following data

X 3 4 6 8 9

b 90 100 130 160 170

3gar  (or)
Rig @Y & Ae—vHeg e » & A9 -1 4 +1 @& d9 Bl 2|
Prove that the value of coefficent of correlation lines between —1 and +1
og S<NIg 9 (Short Answer Type Questions)

UT-13. U Aidd &l bl fag 4BC WX fiadr 8, 399 991 A4BC &I

0
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dud (a, b, ) 21 g st f& waaa &1 fiRor LgpdpD il 8y

a b c
(5 3i®)

A plane intercepts the coordinate axis at 4BC respectively the centroid of

AABC is (a, b, c¢) then prove that the equation of plane is %Jr%Jri:?’.
32dr  (or)
S FHEAS BT FHIBRUT S BRI Gl JoI [dvg A BId) Ol & AR FHAl
x+2y—z=17TN 3x—4p+2=5 W @9 &I
Find the equation of a plane which passes through the origin and perpendicular
to the planes x + 2y —z =1 and 3x — 4y + 2 = 5.
Ug—14. afe A4BC &1 d=<® G =8 o g @ifsw fe (5 37R)

GA+GB+GC=0
3rMdr  (or)
Afew & AT w1 wEad HEw ey W s g s

State and prove Associative law of vector addition

g d R a0 e (5 i)

1—x
1+x

UTi—15. Afe  f(x) = log

L [a+b]
f@+f®=Ff |,

§ie
If f(x) = log ol then prove that—
I+x

B ((H—b}
fa)+fL) =1 T

A4l (or)
. tanx—sinx
lim ———— &1 79 31d &7 |
x—0 x
. tanx—sinx
Evaluate Ilm —————
x—0 b3
dx .
Ui—16. _[7 BT AT Sd BRI— (5 3fp)
S5+ 4sinx
Evaluat _[ it
valuate | —
S+ 4sinx
3l (or)
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dx
—5———— @& AH Eai|
'[2.7(" +6x+8 S
Evaluate | &
T t e
VETE I 342 1 Gra g
yE-17. g 5 +25 =1 B ek oA B | (5 3i)
3 2
: > X y
Find the area of ellipse — + 52 =1
a
A1 (or)
T/2 sinx T
€ dIfow Tk —— dy=—
i '[0 siInx+ Ccosx ¥ 4
/2 sin x |4
Prove that ——— dx = —
0  simmx+cosx 4
I

sec’x tan y dx + sec? y . tan x dy = 0
Solve the following differential equation
sec’x tan v dx + sec? y . tan x dy = 0
3qgar (or)
71 Jradel FHIGROT DI BA B |
(1+y)de=(tanly —x) dy
Solve the following differential equation
(1+3y)dx=(tanly —x) dy
aE-19. I U2 & 81 B & 4 @ UG WANTHUR 4 : 3 =00
Sl W B FA B b B D I[dHel WANMGUI 7 :5 B | AlG IHI
TA B DI BIRY A € U D TA BN DI WIAGAT AT B |
(5 %i)
The odds against A solving a problem are 4 : 3 and odds in favour of B
solving that problem are 7 : 5. What is the probability that the problem will
be solved if they both try.

3gar  (or)
U% U &1 3 9R STl Wl 81 4 9 3If¥d e IFT I%hordl AT STl

T | Ahdd B HE BT WIRGAT e T B |
A die 1s thrown twice A number greater than 4 is taken success find the

probablity distribution of number of successes.
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4" AN e (Long Answer Type Question)

y—2 z—3 x—2 y—3 z-—4
yei—20. Rig #g f Yamg = ;= A 3R .——= T
e 2

W?ﬂﬂéls?%@a‘ftﬁqﬁ—éaﬁﬁmiﬁm

(6 31®)

s S x—g p—~3_ -4

. X
Prove that the lines and

are coplaner

3 4 3 4 5
also find the point of intersection of lines.
3AAr  (or)

Y e BT FHIERU S aR1 Sl fdegan (1, -3, 4), (1, -5,2) 3R (1, -
3,0) ¥ BB ONdT € I9T RN¥dT &g 97ad x +y +2=0 W Reya &
Find the equation of sphere which passes through the points (1. -3, 4),

(1 =5, 2) and (1, —3, 0) whose centre lines on the plane x + y + = =0
ye—21. =1 Y@l & da @1 |YEau g0 |9 B | (6 i)

r:=?+2}+§-+k(}—}+1§)
r=2i—j—k+p (2?+}+2§)
Find the shortest distance between two following lines—
r5=§+2}+§+k(;—}+§)
?;2(2}—}—;{\')-{-” (2}‘+}'+2f()
3=AAr  (or)
=7 fd7gall &1 BRI dlel AAdS BT FHRU ST B |
—2i+67—6k,3i+10; -9k 3R —5i—6k
Find the equation of plane passing through the points.

—2i+6j—6k.3i+10;—9% and —5i— 6k
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